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I x mwn: status of blood found in woman'’s urine
a  »”if she was standing, nknv; if seated — nnv
i Explanation (58mw): when standing, the urine moves up and may be drawing blood from uterus
ii  Challenge: even if seated, perhaps 071 came after she finished urinating
1 Answer (Xax ’7): case where she sitting at edge of chamber pot; if 07 came later, it'd be at rim, instead of mixed in
b ’p» 7 in either case — nMNY
i Snww we follow 'ov 'v's ruling here
II 2 mwn: status of blood - and tis impact - if found in a pot used by both man and woman
a  ’p» ’7 she is "MV
i Question: what would n™ say (if both man and woman were standing)
1 Does he: only consider 8nv in X mwn because there is one pav, but in case of Xprav pav would be 7N — or not?
(a) 572w n™ maintains his position — else this nywn would have mentioned him with »ov "1 as y1nvn
(i) Challenge: if n™ is Xnon even when there is Xp>av pav, certainly when there is only 1 pav!
(if) Answer: we want to show the extent of "0 "7’s lenient position (and 1’ 4>7v X107 N2)
(b) j2r712 77 1™ limits his stringency to one Xp>av =in this case, he is lenient and declares 0o
(i) Challenge: why isn’t n"1 mentioned in this n1wn with »o1 7 as a 9nVN?
(if) Answer: he is (Rn»72 confirms this) but since we ended X mwn with a mention of 'ov "1, we pick that up here
ii  Challenge: if »o» "1 is 90N in case of one pav (R MWN) why mention his leniency here?
1 Answer: from 8 mwn, we would have thought that he is 9nn only T2Y>72 (M710 are MMNY); but not N%NNa> - Y"np
b w7 sheis nrno
i Reason: the npin is that 07 comes from a woman =»came from her =2»nxrnv
ii  Question: what would w" rule about a seated woman?
1 Does he: distinguish and only find &nv if standing (due to pressure on bladder) or does he make no distinction?
(@) &r77x 1" only allows her to “explain” o7 if seated; *0v 1 in either case and W™ in neither case
iii Question: what would w” rule about a man and woman, both seated, urinating into same chamber pot?
1 Does he: rule stringently when there is one pav, but here, due to Xp>av pav (might be his, might be her urine) he’s »pn?
(a) Answer: since his wording is "'WRN 10 Dn7T Nptn, doesn’t matter if she is sitting or standing — always nrnv
III 3 nywn: materials where n'nn> have/do not have impact
a  If: she lent her garment to a non-Jewess or to a N, she may explain the nn3 found (when it is returned) as coming from noxw
i 37 mn must be someone who already saw D7; presented in parallel with nT
1 Challenge (nww 77): n", disputing p”n, rules that as long as she is of age (and likely) to see, the m%x7%> can be n%n
2 Defense: n™ is being lenient; p”n’s position is not that any n is ok; rather, one who has seen (and n™ is »pn)
ii ~ Ap»”1x using a DY N on her 274 day or a N%11 nar who hasn’t yet been n%210
1 27aw7 she may; therefore, the borrower (nar etc.) is now “marred” and our lender is “clean” “therefore”: parallels »27
2 37 she may not; therefore, both are “marred” “therefore”: contra idea that the borrower is untouched by ons — 5"np
3 Agreement: if she lent it to a DY n1mW on her 1t day or someone who has 91mv o7 or a n"%1Na
4 Proposed link (8701 79): if a 19V and &NV each took a path, one Mnv, the other Rnv; this dispute should replicate here
(a) Challenge (87X 77): 21 rules MpPpn 17NV as they are equal; here, the Xnv loses nothing by the alignment
(b) Defense (x70n 7): in our case, as well, the borrower still requires n%»2v (::xnv in this case)
(c) Support for ¥78 ’7. ruling that even if one was »%n (other 11nv), all agree to assign 8nv to nYn/&NY and NAY to NNV
iii  Question (721777 77): may a ond be “blamed” on a on> nYya? (271 wouldn’t consider it; question according to 3"awn)
1 27aw7 does he allow even if she didn’t have a proper m81?
2 Answer (?815 12 711 *7): we do not allow — since there is nothing with which to associate the on>
If: three women each wore a garment or sat on a bench and blood was found on it afterwards — all 3 are mxrno
¢ irpn1 /7. if the bench was made of stone — or a bathhouse bench — mmnv —
i Reason: any surface that cannot become ®nv is invulnerable to wnny - per v. 1
ii 37 rules like mnm ", ‘tho it is a dispute (3py? "7 is RnYn) as in case of 0T found on edge of bath (mrnv DNIN)
1 Application: 11 was even 7nvn if found on back of n”s (no " for inside of w93) or small rags (too small for n 1)
2 Challenge: Rn»11, which presents both sides, is reconciled as allowing “explanation” if borrowed by 7mv o7 %y nawy
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